BMOH N R E

aF 4 3A

R A HOE BN A AbiiEE S A

IR THF BT



1. RESEEL

2. B4

1H B B

3. JiE LERT (E)

il BEEAER Tel T FERIRAD

(&)

AbimE  BEAER AT gk

()

(F)

()

(F)

(H)

(F)

(H)

(E)

4. JiTHNE A=Y 7 473m
FEAEE AR 41 8]
ALK A R 1 6[H]
KA AR 1 8 f&#Fr - [[]
YFitaE  PSth)E 356m
B - E R 1223 9)—X
Hib g HVE e & E 9. 6 OKm
AR —V o TR 473m
YRRk EfENT PSKEE 3 56m
5. # B ASf 4 47 1B ~ T S 54 104 22H (5700



mom N R E P- 1 H
FEE L R aBEE T RS N O
™ & - 4 Boo- A H A7 & &  F i 2
R A
1 R A = 1 27, 888, 625
HER—V Y WML VE ¢ 66 mm $ETFS /Jrarios m 53
HER—V T - E L ¢ 66 wm HEFH JoarVLs m 6
HER—V 7 BHELY I ¢ 66 mm $HEFS /rari s m 231
SER—V LS BE 6 66 mm SRETFSH A—nzarTVs m 128
HER—U L S 6 66 mm ETFH A—nAzaTVLS m 55
FEAEENGRER CREEL - T v b) =] 53
EEE AR (W - AVE 1) ] 6
AR (YR LY W) [5] 231
EHEE A RER (KE) [=] 128
FLAZK S g [=] 16
HFARAERR] (5 A & — KA P - (5] 18
YtiE P StRfE m 356
TEEER ki o ERBR 1 P 8
= Y, MON =W N 2 ), DR =X 8
TERIR EORERIHTE (55 ) 3B, Ske DL T L) =% ;
TSR T ORI - PR AR T A Y= 8
HARER EA OB ER (R—V > 7 a TECE) Y—= 18
SO HADA L —F 7R BTk =R 18
SRR S OO — B AR ) =X 18
AR E A DB SRR ERE (B 2RREE) T Y—2X 18
SE A RRER A DS R TY—2 18
VR (FDRISUAZ) = 1
HEfl K OB A5 1 =, 1
RS Hh S 12
A FLEAZE & T 18
A, RS (BE 0. 3mbLT) [0 17
SES R AFRHH R [ 1
TG N/ N S 12
A 5 T 4 ES 1
AR - B - HIAE X 1 4,669, 113
TR A A - 02 - 1R E 1
[E] - AR AE 5 — 2 X — R E = 1 36, 000
E AT — & X — 2 WE A B EV 1
BhRH = 1 13, 283, 557
biilictee = 1 73, 370
HEHER R [=] 253
HTSERs - AR =, 1 6, 356, 134
LA (A) km 9. 88
e HE R X 1 km 9.6
HER— VU TN m 473
YRS AENT P S fiE m 356




& R E p- 2 H
RSB |ﬁﬁ§§b$ﬁi§ IR LHREEFTENHEREE O
T f& 4 i M BN iy &  # i B
Hifr¥y Retirag EN 1
DI E RS - EEETR &N 1 132, 000
Ay sm# - Y - fHIAE =X 1
Z Ot AT = 1 3,422, 533
— A PR A =K 1 5, 328, 668
aat = 1 61, 190, 000




